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Read the following passage and answer the questions given below:

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with nature, an oral tradition, poetry and ultimately a culture, thereby
contributing to global impoverishment of humanity. It is for these reasons that states, regions, society and civil as well as cultural organizations are seekmg to adopt measures conducive to the

preservation of These | itute a priceless heritage, playing a central role in the preservation of the identity of on some i as
well as being indispensable factors in ensuring cultural diversity. A number of warnings by linguists and other social scientists as well as i izations have come to underline with

growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to communicate, and above all, its primary role in evolving cultural
identities.

Identify from the options given below, the synonym of the phrase “global impoverishment™
universal depletion

poverty of the earth

Tocal enrichment

poverty in the world

Read the following passage and answer the questions given below:

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with nature, an oral tradition, poetry and ultimately a culture, thereby
contributing to global impoverishment of humanity. It is for these reasons that states, regions, society and civil as well as cultural organizations are qeekmg to adopt measures conducive to the
preservation of | These | i a priceless heritage, playing a central role in the preservation of the identity of d on some i as

well as being indispensable factors in ensuring cultural diversity. A number of warnings by linguists and other social scientists as well as i i izations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to communicate, and above all, its primary role in evolving cultural
identities.

From the options provided below, select the one that is closest in meaning to the phrase “with growing intensity the crucial factor” as implied in the passage.
with increasing vigour the pivotal part
with increasing anxiety the unique part
with intense worry the significant role

with excessive concern the important role

Read the following passage and answer the questions given below:

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with nature, an oral tradition, poetry and ultimately a culture, thereby
contributing to global impoverishment of humanity. It is for these reasons that states, regions, society and civil as well as cultural organizations are seekmg to adopl measures conducive to the
preservation of | These | i a priceless heritage, playing a central role in the preservation of the identity of d on some i as

well as being indispensable factors in ensuring cultural diversity. A number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to communicate, and above all, its primary role in evolving cultural
identities.

Identify the word from the passage that is farthest in meaning to “central” as implied in the passage
peripheral

indispensable

pivotal

intense

Read the following passage and answer the questions given below:

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with nature, an oral tradition, poetry and ultimately a culture, thereby
contributing to global impoverishment of humanity. Tt is for these reasons that states, regions, socicty and civil as well as cultural organizations arc scckmg to adopt mcasurcs conducive to the
preservation of 1 These 1 i a priceless heritage, playing a central role in the preservation of the identity of numerous i d on some il as

well as being indispensable factors in ensuring cultural diversity. A number of warnings by linguists and other social scientists as well as international organizations have come to underline with
growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to communicate, and above all, its primary role in evolving cultural
identitics.
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As per the passage, evolving cultural identity is the prime contribution to human society made by
oral tradition

language and mother tongue

process of communication

development of human creativity

Read the following passage and answer the questions given below:

With the disappearance of a language, it is not only a human creation that dies, but also a form of expressing a relationship with nature, an oral tradition, poetry and ultimately a culture, thereby
contributing to global impoverishment of humanity. It is for these reasons that states, regions, society and civil as well as cultural organizations are seeking to adopt measures conducive to the
preservation of I These 1 i a priceless heritage, playing a central role in the preservation of the identity of ities (b d on some i as
ions have come to underline with

well as being indispensable factors in ensuring cultural diversity. A number of warnings by linguists and other social scientists as well as i

growing intensity the crucial factor of languages and mother tongues in the development of human creativity, of the capacity to communicate, and above all, its primary role in evolving cultural
identities.

The human society gets culturally impoverished when
the relationship with nature is hindered

human creation is undermined

oral tradition is lost

when a language disappears

Read the following passage and answer the questions given below:

The twelfth century stands out as a lively and creative age in Western Europe, whether it is judged by great movements (such as the rise of new architecture, of universities, of a multitude of
literary forms and kinds in the vernacular) or by its results in some tiny detail, as when it gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before. What
happy combination of circumstances unlocked this abounding vitality it is impossible to say. But one aspect is suggested by the history we have just traced. Preceding ages always had before
them the model of Rome in her days of greatness. Those who cared for literature imitated the Latin classic; and by using a dead language and the forms and subjects of a past civilization, they
cut themselves off from the mass of people.

Which of the following statements best captures the sense conveyed in the passage:

(i) Twelfth century stands out irrespective of its great movements or by its results in some tiny detail.

(ii) Twelfth century stands out notwithstanding its great movements or by its results in some tiny detail.
(iii) Twelfth century stands out not neither due to its great movements nor by its results in some tiny detail.
(iv) Twelfth century stands out due to its great movements as well as by its results in some tiny detail.

(iv)
(i)
(iif)

@

Read the following passage and answer the questions given below:

The twelfth century stands out as a lively and creative age in Western Europe, whether it is judged by great movements (such as the rise of new architecture, of universities, of a multitude of
literary forms and kinds in the vernacular) or by its results in some tiny detail, as when it gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before. What
happy
them the model of Rome in her days of greatness. Those who cared for literature imitated the Latin classic; and by using a dead language and the forms and subjects of a past civilization, they

ion of circumstances unlocked this ling vitality it is i to say. But one aspect is suggested by the history we have just traced. Preceding ages always had before

cut themsclves off from the mass of people.

As per the passage, those who were using outdated forms and subjects in an unfamiliar language
cut themselves off from the masses

cared for literature

could not follow Latin

were imitating the Latin classics

Read the following passage and answer the questions given below:
The twelfth century stands out as a lively and creative age in Western Europe, whether it is judged by great movements (such as the rise of new architecture, of universities, of a multitude of
literary forms and kinds in the vernacular) or by its results in some tiny detail, as when it gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before. What

happy combination of circ locked this abounding vitality it is impossible to say. But one aspect is suggested by the history we have just traced. Preceding ages always had before

them the model of Rome in her days of greatness. Those who cared for literature imitated the Latin classic; and by using a dead language and the forms and subjects of a past civilization, they
cut themselves off from the mass of people.

The term a “past civilization™, in the passage denotes -------
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Latin Classics

British civilization

Roman civilization

Latin civilization

Read the following passage and answer the questions given below:
The twelfth century stands out as a lively and creative age in Western Europe, whether it is judged by great movements (such as the rise of new architecture, of universities, of a multitude of
literary forms and kinds in the vernacular) or by its results in some tiny detail, as when it gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before. What

happy
them the model of Rome in her days of greatness. Those who cared for literature imitated the Latin classic; and by using a dead language and the forms and subjects of a past civilization, they

ion of cir locked this at ding vitality it is impossible to say. But one aspect is suggested by the history we have just traced. Preceding ages always had before

cut themselves off from the mass of people.

The phrase “imitated the Latin classics™ means
copied the Latin classics verbatim

wrote classics in Latin themselves

copied Latin classics in English

wrote in similar vein in English

Read the following passage and answer the questions given below:

The twelfth century stands out as a lively and creative age in Western Europe, whether it is judged by great movements (such as the rise of new architecture, of universities, of a multitude of
literary forms and kinds in the vernacular) or by its results in some tiny detail, as when it gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before. What
happy combination of circumstances unlocked this abounding vitality it is impossible to say. But onc aspect is suggested by the history we have just traced. Preceding ages always had before
them the model of Rome in her days of greatness. Those who cared for literature imitated the Latin classic; and by using a dead language and the forms and subjects of a past civilization, they
cut themselves off from the mass of people.

It gives new life to the dry bones of a fable that had been chewed unprofitably for centuries before.”
This statement is

a euphemism
a metaphor
both

neither

Neeraj, Manoj and Geeta start running around a circular stadium and complete one round in 10seconds, 6 seconds and 14 seconds respectively. In how much time will they
meet again at the starting point?

3 minute 30 seconds
2 minute 28 seconds
4 minute 45 seconds

1 minute 40 seconds

A boat running downstream covers a distance of 16 km in 2 hours while for covering the same distance upstream, it takes 4 hours. What is the speed of the boat in still water ?
4 kmph
6 kmph
8 kmph

3.5 kmph

In the following questions, four capitalised words followed by four choices are given. One of the choices is associated with the four main words. Identify the word and mark
its letter as your answer.

CAP DISH TABLE CURTAIN
Wood
Cloth
Hook

Rod

What should come in the place of question mark (?) in the following number series?

705, 728, 774, 843, 935, 1050, ?
1190
1180

1188



° 1147

Corract Answer c

Marks 1

Question Description

Arrange the vowels and consonants of the word ACCOMPLISHMENT in a alpha order separately, the vowel first and then the consonants. If the first, the second and the
third vowel so arranged, correspond to the first three, the next and the next three consonants so arranged respectively. E corresponds to which consonants?

A LMM
° HLM
¢ MMN
° MNP
CoroctAnewer o

Marks 1

Question Description In question below is given a statement followed by three courses of action numbered (A), (B) and (C). A course of action is a step or administrative decision to be taken for

improvement, follow-up or further action in regard to the problem, policy, etc. On the basis of the information given in the statement, you have to assume everything in the
statement to be true, then assume everything in the statement to be true, then assume everything in the statement to be true, then courses of action logically follow( s) for
pursuing.

Statements :

There have been five accident cases in the city during last three days due to driving under the influence of alcohol in which six people have lost their lives and many more
were injured.

Courses of action:
» All those who are found driving vehicles after consuming alcohol should be awarded stringent punishment.

8. The traffic police department should put up huge signboards on all the major roads in the city advising citizens of the dangers of driving under the influence of alcohol.

c.The traffic police should, check each and every car driver throughout the day and night to identify those who are driving after consuming alcohol.

" Only (A)
¢ Only (B)
¢ Only (€)
° Only (A) and (B)

‘Question Description

Statement: It is desirable to put the child in school at the age of 5 or so.
Assumptions:
1. At that age the child reaches appropriate level of development and is ready to learn.

11. The schools do not admit children after six years of age.

Only assumption I is implicit

Only assumption I is implicit

¢ Either [ or II is implicit
° Both I and IT are implicit
Correct Answer A

Marks 1

Question Description

Look at this series: 70, 71, 76 81, 86, 70, 91, ... What number should fill the blank?

4 70
° 71
° 80
° 96
Correct Answer A
Warks 1

@ Question Description

Find out the missing statement of the given valid argument.

No men are mortal.

Therefore, some politicians are not mortal beings.

Some men are politicians.



Some men are not politicians.
All men are politicians.

No mortal beings are politicians.

Cortact Answar A

Marks '

Quostion Doscription Choose the conclusions that follow the given statements.
Statements:

Some tables are T.V.

Some T.V. are radios.

Conclusions:
1.Some tables are radios.
2.Some radios are tables.
a.All the radios are T.V.
+All the T.V. are tables

A Only (1) and (3)
® Only (4)
¢ Only (1) and (4)

None of the four.

Correct Answer o

Marks 1

Question Description In the following questions two rows of number are given. The resultant number in each row is to be worked out separately based on the following rules and the question
below the row is to be answered. The operations of number progress from the left to right.
Rules:
.If an even number is followed by another even number they are to be added.

i.If an even number is followed by a prime number, they are to be multiplied.
ii If an odd number is followed by an even number, even number is to be subtracted from the odd number.
w.If an odd number is followed by another odd number the first number is to be added to the square of the second number.

vIf an even number is followed by a composite odd number, the even number is to be divided by odd number.

What is the sum of the resultants of the two rows?

1651112
w153 11
o 366
® 66
¢ 264
° 462
Correct Answer o
Marks. 1
Queston Description In the following question a number series is given. After the series a number is given followed by (a), (b), (c), and (d). You have to complete the series starting with the given

number, following the sequence of original series and answer the question that follows the series.

What will come in the place of (D)?

8461552523625
12ABCD

A 18.25

5 19

c 225

o 20.75

Correct Answer ©

Marks. i

Question Description find odd man out

Jeevan Raksha Padak

Param Vir Chakra

Padma Bhusan

° Bharat Ratna

Correct Answar B

Marks '

Question Descripton Two types of tea, A and B, are mixed and then sold at Rs. 40 per kg. The profit is 10% if A and B are mixed in the ratio 3 : 2, and 5% if this ratio is 2 : 3. The cost prices, per kg, of

A and B are in the ratio

B 17:25

® 18:25

¢ 21:25



° 19:24

Correct Answer o

Marks 1

Question Descripton In the following questions, four jumbled words are given. Rearrange them and identify the word, which is the “Odd Man”. Mark its option given below as your answer:

enineger
B otoder
c rerdiv
o runse
Corroct Answer ¢
Marks. !
25 Question Description Statement

Should teach self-defence compulsory in every school.

Arguments

i. Yes, self-defence should be compulsory.

ii. Especially for girls as per the rising cases of rape they should teach.

A Only ii is implicit

® Both i or i is implicit

¢ Only i is implicit

° Neither i nor ii is implicit
Corrtct Anmwor 8

Marks 1

Question Description

28 men can complete a piece of work in 15 days and 15 women can complete the same piece of work in 24 days. What is the respective ratio between the amount of work done
by 30 men in 1 day and the amount of work done by 18 women in 1 day?

A 10:7
s 3:5
¢ 5:4
° 9:5
Corect Anwwer "

warks '

Question Description

Look at this series: XXIV, XX, XII, VIII, ... What number should fill the blank?

A XXII
e X
¢ XVI
° \%
Gorret Answer .

Marks 1

Question Description

find odd man out

Iron Box
® Mixie
¢ Computer
° Gas Stove
Correct Answor o
Marks '

Question Description Reentry occurs when a person leaves his or her social system for a period of time and then returns. Which of the below statements best describes reentry?

‘When a better pay was offered Rahul left his company and joined the new company.

8 After spending a lot of time overseas Ashish has decided to come back to his country and is readjusting to his country’s climate.
¢ Due to the demic the students are ding their classes from home.

° After several miserable months, Sharon decides that she can no longer share an apartment with her roommate Hilary

Correct Answer s

Marks 1

31 Question Description

Choose the correct water - image of the fig. (x) from the given four figures.

v
DD®D D



